
 

 
 

 
 
 

 cs;ehl;L njhopw;ghLfs; jpizf;fsk; 

 2018 entk;gh; 1 
 
 

 
1. XhpuT gzr; re;ijf; nfhLf;fy;thq;fy;fs; 
 

 miog;G gzr;re;ij kPs;nfhs;tdT 
re;ij 

epiwNaw;wg;gl;l ruhrhp tPjk; (%) 8.45 - 

Fiwe;jgl;r tPjk; (%) 8.40 - 

cah;e;jgl;r tPjk; (%) 8.50 - 

KOnkhj;j njhif (&.kpy;ypad;) 15>715 - 

Njwpa nkhj;j njhif (&.kpy;ypad;) 13>845 - 

 
 
2. jpwe;j re;ijj; njhopw;ghLfs; 
 

1.XhpuT Neh;khw;W kPs;nfhs;tdT Vyk; 

Kd;itf;fg;gl;l njhif (&.kpy;ypad;) 24>000 

Vyj; jpfjp 2018 entk;gh; 1 

jPh;g;gdTj; jpfjp 2018 entk;gh; 1 

Kjph;r;rpj; jpfjp 2018 entk;gh; 2 

ngwg;gl;l tpiyf;Nfhuy;fs; (&.kpy;ypad;) 19>950 

Vw;Wf;nfhs;sg;gl;l njhif (&.kpy;ypad;) 19>950 

Vw;Wf;nfhs;sg;gl;l Fiwe;jgl;r tPjk; (%) 8.43 

Vw;Wf;nfhs;sg;gl;l cah;e;jgl;r tPjk; (%) 8.50 

epiwNaw;wg;gl;l ruhrhp tpisT (%) 8.47 
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2. FWq;fhy Neh;khw;W kPs;nfhs;tdT Vyk; 

Kd;itf;fg;gl;l njhif (&.kpy;ypad;) 30>000 

Vyj; jpfjp 2018 entk;gh; 1 

jPh;g;gdTj; jpfjp 2018 entk;gh; 1 

Kjph;r;rpj; jpfjp 2018 entk;gh; 8 

ngwg;gl;l tpiyf;Nfhuy;fs; (&.kpy;ypad;) 22>300 

Vw;Wf;nfhs;sg;gl;l njhif (&.kpy;ypad;) 22>300 

Vw;Wf;nfhs;sg;gl;l Fiwe;jgl;r tPjk; (%) 8.45 

Vw;Wf;nfhs;sg;gl;l cah;e;jgl;r tPjk; (%) 8.50 

epiwNaw;wg;gl;l ruhrhp tpisT (%) 8.49 

 

 

3. ePz;lfhy Neh;khw;W kPs;nfhs;tdT Vyk; 

Kd;itf;fg;gl;l njhif (&.kpy;ypad;) 20>000 

Vyj; jpfjp 2018 entk;gh; 1 

jPh;g;gdTj; jpfjp 2018 entk;gh; 2 

Kjph;r;rpj; jpfjp 2018 entk;gh; 16 

Kjph;r;rp milaTs;s ehl;fs; 14 

ngwg;gl;l tpiyf;Nfhuy;fs; (&.kpy;ypad;) 5>300 

Vw;Wf;nfhs;sg;gl;l njhif (&.kpy;ypad;) 2>000 

Vw;Wf;nfhs;sg;gl;l Fiwe;jgl;r tPjk; (%) 8.48 

Vw;Wf;nfhs;sg;gl;l cah;e;jgl;r tPjk; (%) 8.48 

epiwNaw;wg;gl;l ruhrhp tpisT (%) 8.48 

 
 
3. ,yq;if kj;jpa tq;fpapd; Jizepy; trjpfspd; gad;ghL 
 

Jizepy; itg;G trjp (&. kpy;ypad;) 6>890 

Jizepy; fld;toq;fy; trjp (&. kpy;ypad;) 18>657 

 
 
4. ,yq;if kj;jpa tq;fpapd; jpiwNrhp cz;bay; clikfs; 
 

Kfg;Gg; ngWkjp (&. kpy;ypad;) 54>443.60 Vl;Lg; ngWkjp (&. kpy;ypad;) 52>468.13 

 


